Mr. Klansek Name:
Date: Block:

Numbers in Physics
Fill in the table (13pts)

Prefix: kilo- meg e giga- e

Symbol: k M (= T

Value: 10° 10° 10° o “

Prlefix: dECi‘ C(’/mi Zl" ,v,ﬂA(/(/:éf __/;’»(,,Z,é.».zﬁ? _nﬂno—
Symbol: {ﬁ o e u )
Value: 10t 102 10°3 10°¢ 0" 7

1) Round the following calculations to the proper number of significant
digits (use Scientific Notation): (6pts)

.

(a) 6.19 x 2.8 \\\. (b) 3.18/1.702__—
o
(c) (4.10 x 302 - 1100)/1.56x16"* 6.82 - 2.111

.

(e) 213=0.01 (f) 5.19x10-2 + 183 + 219

2.)  Use appropriate prefixes to write the following measurements without
the use of exponents (NOT Scientific Notation): (4pts)
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Short Answer (show all work) (3pt each)
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5.) If vis measured mﬁ easured in (s), xis measured in (m) and ais

measured in (m/s%), circle ai*€quations that are correct (6pt)
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6.) How many square inches are in 6.3 square feet? (3 pt)
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7.) How fast (in m/s) is a car travelling if its speed is 55 mph? (6 pt)
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